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Name: __________________________________



1
Which transformation of [image: image1.png]


 moves the graph 7 units to the left and 3 units down?

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
The maximum point on the graph of the equation [image: image6.png]


 is [image: image7.png]


.  What is the maximum point on the graph of the equation [image: image8.png]


?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






3
The minimum point on the graph of the equation [image: image13.png]


 is [image: image14.png]


.  What is the minimum point on the graph of the equation [image: image15.png]


?

	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	[image: image18.png]




	4)
	[image: image19.png]






4
The graph of the equation [image: image20.png]


 is shown in the diagram below.

[image: image21.png]<

>





Which diagram could represent a graph of the equation [image: image22.png]y = alx|



 when [image: image23.png]-1 <aq <0



?

	1)
	[image: image24.png]<






	2)
	[image: image25.png]




	3)
	[image: image26.png]<






	4)
	[image: image27.png]






5
The diagram below shows the graph of [image: image28.png]


.

[image: image29.png]



Which diagram shows the graph of [image: image30.png]


?

	1)
	[image: image31.png]




	2)
	[image: image32.png]




	3)
	[image: image33.png]




	4)
	[image: image34.png]






6
The graph of [image: image35.png]|x+2|



 is shown below.

[image: image36.png]



Which graph represents [image: image37.png]—x+2|




?

	1)
	[image: image38.png]




	2)
	[image: image39.png]




	3)
	[image: image40.png]




	4)
	[image: image41.png]






7
Dominick graphs the equation [image: image42.png]y = alx|



 where a is a positive integer.  If Gina multiplies a by [image: image43.png]


, the new graph will become

	1)
	narrower and open downward

	2)
	narrower and open upward

	3)
	wider and open downward

	4)
	wider and open upward



8
Graph and label the functions [image: image44.png]


 and [image: image45.png]


 on the set of axes below.
[image: image46.png]



Explain how increasing the coefficient of x affects the graph of [image: image47.png]


.

9
On the set of axes below, graph and label the equations [image: image48.png]


 and [image: image49.png]


 for the interval [image: image50.png]


.

[image: image51.png]



Explain how changing the coefficient of the absolute value from 1 to 3 affects the graph.

10
Graph and label the following equations on the set of axes below.

[image: image52.png]



Explain how decreasing the coefficient of x affects the graph of the equation [image: image53.png]


.

[image: image54.png]




11
The graph of [image: image55.png]


 is shown below.

[image: image56.png]x
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Which graph represents [image: image57.png]


?

	1)
	[image: image58.png]




	2)
	[image: image59.png]




	3)
	[image: image60.png]




	4)
	[image: image61.png]






12
The graph below shows the function [image: image62.png]


.

[image: image63.png]



Which graph represents the function [image: image64.png]fix+ 2)



?

	1)
	[image: image65.png]




	2)
	[image: image66.png]




	3)
	[image: image67.png]




	4)
	[image: image68.png]>








13
The diagram below shows the graph of [image: image69.png]


.

[image: image70.png]



Which diagram shows the graph of [image: image71.png]


?

	1)
	[image: image72.png]




	2)
	[image: image73.png]




	3)
	[image: image74.png]




	4)
	[image: image75.png]






14
The graph of the equation [image: image76.png]


 is shown below.

[image: image77.png]HE
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Which statement best describes the change in this graph when the coefficient of [image: image78.png]


 is multiplied by 4?

	1)
	The parabola becomes wider.

	2)
	The parabola becomes narrower.

	3)
	The parabola will shift up four units.

	4)
	The parabola will shift right four units.



15
The parabola shown in the accompanying diagram undergoes a reflection in the y-axis.

[image: image79.png]T

55 4




What will be the coordinates of the turning point after the reflection?

	1)
	[image: image80.png]




	2)
	[image: image81.png]




	3)
	[image: image82.png]




	4)
	[image: image83.png]






16
Which is the equation of a parabola that has the same vertex as the parabola represented by [image: image84.png]


, but is wider?

	1)
	[image: image85.png]y=x'+2





	2)
	[image: image86.png]




	3)
	[image: image87.png]




	4)
	[image: image88.png]






17
Melissa graphed the equation [image: image89.png]


 and Dave graphed the equation [image: image90.png]


 on the same coordinate grid.  What is the relationship between the graphs that Melissa and Dave drew?

	1)
	Dave's graph is wider and opens in the opposite direction from Melissa's graph.

	2)
	Dave's graph is narrower and opens in the opposite direction from Melissa's graph.

	3)
	Dave's graph is wider and is three units below Melissa's graph.

	4)
	Dave's graph is narrower and is three units to the left of Melissa's graph.



18
The graph of a parabola is represented by the equation [image: image91.png]


 where a is a positive integer.  If a is multiplied by 2, the new parabola will become

	1)
	narrower and open downward

	2)
	narrower and open upward

	3)
	wider and open downward

	4)
	wider and open upward



19
Which transformation of the graph of [image: image92.png]


 would result in the graph of [image: image93.png]y=x'+2



?

	1)
	[image: image94.png]




	2)
	[image: image95.png]




	3)
	[image: image96.png]




	4)
	[image: image97.png]Ro 90







20
What is the translation that maps the function [image: image98.png]fx)=x" -1



 onto the function [image: image99.png]g(x)=x"+1



?

	1)
	[image: image100.png]




	2)
	[image: image101.png]




	3)
	[image: image102.png]




	4)
	[image: image103.png]






21
The graph of [image: image104.png]


 is shifted left 4 units and down 2 units.  What is the axis of symmetry of the transformed graph?

	1)
	[image: image105.png]




	2)
	[image: image106.png]




	3)
	[image: image107.png]




	4)
	[image: image108.png]






22
Consider the graph of the equation [image: image109.png]y=ax’+bx+c



, when [image: image110.png]a0



.  If a is multiplied by 3, what is true of the graph of the resulting parabola?

	1)
	The vertex is 3 units above the vertex of the original parabola.

	2)
	The new parabola is 3 units to the right of the original parabola.

	3)
	The new parabola is wider than the original parabola.

	4)
	The new parabola is narrower than the original parabola.



23
How is the graph of [image: image111.png]y=x'+dx+3



 affected when the coefficient of [image: image112.png]


 is changed to a smaller positive number?

	1)
	The graph becomes wider, and the y-intercept changes.

	2)
	The graph becomes wider, and the y-intercept stays the same.

	3)
	The graph becomes narrower, and the y-intercept changes.

	4)
	The graph becomes narrower, and the y-intercept stays the same.



24
The function [image: image113.png]


 is graphed on the set of axes below.  On the same set of axes, graph [image: image114.png]fix+1)+2



.

[image: image115.png]




25
Graph and label the following equations, a and b, on the accompanying set of coordinate axes.

[image: image116.png]2y=x"

by =—(x—4)% +3




Describe the composition of transformations performed on a to get b.

[image: image117.png]




26
Two parabolic arches are to be built. The equation of the first arch can be expressed as [image: image118.png]x40



, with a range of [image: image119.png]


, and the second arch is created by the transformation [image: image120.png]


.  On the accompanying set of axes, graph the equations of the two arches.  Graph the line of symmetry formed by the parabola and its transformation and label it with the proper equation.

[image: image121.png]=





27
a On the accompanying grid, graph the equation [image: image122.png]Zy=2x" -4



 in the interval [image: image123.png]


 and label it a.

b On the same grid, sketch the image of a under [image: image124.png]


 and label it b.

[image: image125.png]
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The transformation is a reflection in the x-axis.
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.  Graph becomes narrower as the coefficient increases.
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011434ia
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[image: image127.png]


  The graph becomes steeper.
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[image: image128.png]


.  Graph becomes wider as the coefficient approaches 0.
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[image: image129.png]


 is in vertex form, so the vertex of this quadratic is (3, 0), and the axis of symmetry is [image: image130.png]


.  Shifting the graph left 4 units moves the axis of symmetry to [image: image131.png]


.
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[image: image132.png]x
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[image: image133.png]


 [image: image134.png]


, [image: image135.png]


 or [image: image136.png]
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[image: image138.png]-
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